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This test intends to measure your proflciency in Engliéh Ianguage It will be tested through

questmns/ntems on reading comprehenslon, functional grammar context based vocabulary etc.

The different types of questlons whlch are used in this test can he classlfled as:

(A) Reading Comprehensnon (l)
: (B) Spotting the Error |
(C) Sentence Correction "
(D) Sentence Completion
(E) Reading Comprehension (I1)
(F) Rearrangement of Senter{ces
= (G) Suppressed words Passage
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Questions on reading comprehensnon measure the ability to understand analyse and apply information and

concepts presented in the written form. All‘questnons are to be: answered‘qn the basis of what is stated or

implied in the given passage. il ! ‘.\ ‘ i
| ‘ i il !

Guidelines for answering the Reading Com;p‘;re‘hension Questloris. ‘
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Each of the above measures one or more areas of language abllltles. I

Questions on reading comprehension measure the ability to u‘ruderﬁtahd analyse and apply information and
10

concepts presented in the written form. All questl‘o‘nsp are to be answered on the basus of what is stated or
i iy |
implied in the given passage. \ \ \ | ) il ‘\ ! |
aan
| T
i [}
Guidelines for answering the Readmg Comprehensu‘lm Qu‘estlons. i ,
i Hl
|
Given below are some guidelines, whlch would be of use to ybb in answermg satisfactonly the questions set
\ \

on the passage. | £ Snmanl . i e

* 1. Answer all questions based on what is stated or |mphed in the passage ltseif Even when you do not
agree with what the author of the passage is saymg, do not let your opinions or knowledge and
information influence your }udgement of what the author is saymg

2. Read the questions carefully, makmg sure that you understand what is belng asked. If need be refer

= back to the passage for fmdmg the answer

‘ ‘ .
3. Read all the alternatives carefully W1thout flrst readlng aII the alternatlves da not assume that you

have selected the best answer. ‘- M' b ‘j | | T

4. Remember that understandmrgus the cri‘til cal factor in readmg comprehensmn
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Qs (1- 11) Read the following passage carcfully and answer the queﬁtloné given below it. Certaln words in
the passage are given in bold to help you locate them caslly whlle ahswcrlng sorhe of the questions.

One great advantage, which | EﬂjOVEd in, my yqunger “days; Was the luterary and artlstn: atmosphere which

Ul | | [ !
pervaded our house. | remember how ‘when | wa§ qurté h chﬂd I would be Ieanmg agamst the verandah

railings, which overlooked the detached bunldrng t:mhprmr;g the receptmn rooms T hese rooms would be

I I
lighted up every evening. In our boyhood, we b held the dymg rays of that mtumate sociability which was

characteristic of the last generatron Nerghbeurly féelmg? ‘w‘é‘re theh so strong that the informal gatherings
| | I | | Il il

were a necessity, and those who could co‘n‘tnbUte to |ts amemtles were m great request The more | think of
L \‘HI “‘w“‘\‘ll“\‘
that period the more I realise that we have no Ionge“r th‘e thmg hnown an mformal unlnwted gathering. People

nowadays call on each other on busmess, or es a matter of 5o‘cralf duty, Fut nbt to foregather by way of informal
I ' | i |‘ |\‘ “\ I
gatherings. They have neither the trme nor areﬂthe‘re thé“sa ” e‘ |qt|mate relations! What goings and comings
| L \‘ | | I ‘ \‘I HI‘ | [ !
we used to see, how merry were the rooms ‘hnd \‘/erandahg Wlth the hum of conversation and the snatches of
Il (R | ‘M J (i

laughter! The faculty our predeces‘soté had of becc‘nmlwng the centre ofig groups and gathenngs of starting and
“\‘ ‘\“H ““‘u“” "
keepmg up animated and amusmg goss:p, haé ‘\(anHHshedl ‘er‘n s“trlll come and go but those same verandahs and
| ‘i | | |“ |\‘ ‘IP ‘IU‘ \“‘ “ | “ ‘\ “ |
I \ \ \ |

rooms seem empty and deserted My U MM | Il

I [l | 1l | | | | ‘\‘ | “ | \ w“ | i

In those days, everything from furnlture to festlvlty was desngned te be enjoyed by the many, so that whatever
\ | \‘

| ‘\
of pomp or magmﬂcence there mlght“heve beénw qrd hot smell of superiorlty These add-ons have since

increased in quantity, but they have become unf hnm qnti |<now npt the art of makmg high and low alike feel

| ‘ i “‘ H“ \“ |
at home. The bare-bodied, the |nd|gently ”;:larj ‘no an[}er have the ripht to use fmd occupy them, without a
| I' Il | | I \ |

permit, on the strength of their smllln\p faces alone Tmsp whnm wq: m:“m\«)adays wek to imitate in our house-

building and furnishing, they have‘thdinoWn schety: with Its wictn hoﬁmtality i he mnsqhief with us is that we
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penmt on the strength of their smnhng face;“» alone Thos‘ vx)hH m“ we nowadays seek to lmltate in our house-

= [l Vil \ H ”
‘ il ‘ |l
bunldlng and furnishing, they have their own ;omety;“ﬂnth |t£ ” de hospltahty The mlschlef with us is that we

v

PR
o | o A Lt bt

- have lost what we had, but have not the means of bulidmg Jp afresh on the European sta ndard wrth the result

i

o

| ‘ “
that our home-llfe has become Joyless We stlll ‘meet for busmess or polltlcal purposes, but never for the

‘;}

S L L L LT A A A LSS AN S A A AL o o o it A

pleasure of SImpIy meeting one another We have ceased to contnve opportunltles to bnng men together

simply because we love our fellow men I can |mag|ne nothmg more ug!y than th:s social mlserhness, and,

aAp A a

a2

P

= when I look back on those whose nngmg !aughter comlng str.“ ‘ght‘from the:r hearts used to hghten forus the
= P —

burden of household cares they seem to have been ws:t_ors from some other world

2 e

0s.1 Why does the author feel that the rooms and verandahs have lost thenr charm'-"

1} The rooms and: vera ndahs have grown too smaH to accommodate people
= I} They have been crowded by gatherlngs ofgoss:pmg people ‘
= —13) The conversatlonal quality whlch our predeceeso‘l's possessed has now vamshed

4} Unlike in the past, there are no facilities for arrangmg meetlngs ‘

= — — — i \ ‘ FaG “ :
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Test of English Language

[Explanation: In the above question, answer no.3 is the correct answer. The author has expressed his feeling
that the rooms and verandahs have lost their charm - not because they are deserted, but because the intimate
relations among the people are now lacking. People still meet each other but only for a business talk or just as

a social duty. The intimacy is lost. Thus, the right answer to the above question is "3" which is implied in the

contents of the passage.

Qs. 2. How is the meeting of péoplgiof the prgs,en't generation different from the meeting of the people of the
past? B ' : :

1) Itis much easier to interact thanks toﬁtechnology__ _7 = _
2) Neighbourly feelings have now been strengthened ~——
3) Informal gossiping is not considered ethical thesedays -~ ==

4) People now do not have close-knit relations among themselvéé '

5) People now-a-days involve themselves more in unhealthy gossips
Qs. 3. Which of the following is 'social miserliness' according to the author?
1) Diminishing intimate sociability
2} Increasing social inequality
3) Mass Starvation

4) We do not wish to incur expenditure merely to get people together
5) Successful imitation of the European standard

a

Qs.4. According to the passage, people who do which of the following would seem like visitors from some
other world? “

1) Eradication of poverty and establishing social equality

2) Maintaining formal European social customs even in informal meetings

3) Reducing the burden of household cares by extending monetary assistance
4) Enhancing business opportunities with European countries

5) None of the given options
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5) None of the given options (1 / U U | \ "
[ \ \
Qs.5.The approach of the author of this passage ‘seems to i‘e‘ |

1) extremely critical about our mdnfference ;owards ‘thé past generatuon
2) emphatic about the need for informal social interaction
3) cynical about our blindly imitating the Wé‘sée“r” st HIH ‘ | |
4) pessimistic about our business and polntuéal H/eﬁ ‘es ” ‘\ ” | ‘ 1 |
\

5) too conservative to allow for any social e\)oluﬁlw
L

Qs 6. Which.of the following statements is def‘mtely ‘T‘BU“E in
i i

1) Poor peoplein the past generation did not hqve tth néht to enJoy anything W|thout permission
2) We have ceased to bring people together solely fdr‘ the pleasure of meeting them

3) Dying rays of intimate sociability was the cha‘r‘ai‘: er ‘StIC C”)f the last generation |

4) The gap between different strata of the pr‘egéh slocnew is dlmmlshlng R

5) Our meetings with other people at present ha\me eer\a for the purpose of fostenng mtlmacy

===

||
tlJe” context of the passage?

o - .u.,,,,/,.,,,,,,,,'./J.Jz/'jJ-J;JJ/J)/’/’J‘.:’/’JJ/'/’/’J’/’/’/’/’)/’J
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Qs.7 Why, according to the author, has our home life become qulmﬁ‘” | | il b b |
| i ‘\j ;‘ ‘\ Hw“ : TI |
| I I | | \ \“M I
1) We have lost the means of building up houses on Curopean standards WAy i ‘\ i ‘L ‘}1‘ L
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Qs 7 Why, according to the author, has our home hfe become joytess? “ \‘ | “‘ i i‘ i
‘ ‘ I ‘ | | ‘ | | | |
1) We have lost the means of bunldmg up houses on Europ‘ean sta”ndards ! f i i)

2) Complete imitation of the West is not possible owmg to dlfferent cllmatlc condmons “ ‘1
~ 3) While we have lost interpersonal lntlmacy and somablllty, we do not have the rneans to build up

I I 00 i
T ‘\ T ‘ “ T TesTof English Language

afresh on European standards. LE| ' L “ !5 | \ \ ‘ ‘ “ ‘
4) Most people cannot live up to the current standard of Iunng and are half-starved

5) None of the given optlons ] ‘ J EJ‘ “‘ i I ﬂ‘i | ‘:“E‘H w ,

_ In addition to such’ questions, whlch are based on the content of the passage some vocabulary questions
H i ‘ i ‘

(synonyms and antonyms) are also asked el ‘I | ‘ ‘ |
Qs 8. Which of the following words is most nearly the SAME in meamng as the word snatches"‘as used in the

context of the passage?

1) steals
~ 2) outbursts
-3) joys T
4) tips , = e L M‘ el
5) influence TN ‘ “{ / “ J \ \“ ‘“ |
| | H‘ | ‘ ‘\ :‘

I \ \ ‘ ‘ | “ | \ ity
Explanatmn Many words when rcdd in 1solahonwlm% dlf[urt.nt hddLL of mg‘ramng Bul when such a

word is used in the passage, it Lonw.ys a pdl’ll(.tl] rmmnm? ‘ ou mv o 1dcnt1[}L at umque meaning

of the word which is implied in the wnlcxt orthe passage, The wmd xna‘thJ:s hmusud in the passage
refers to "outbrusts” l'hucfmcthc rlg_,ht .um\cl in thc ‘unlc\l ()f“lt‘ }alssil"cls"l"t

‘ 1]
Qs.9 .Which of the followmg words is most nearly the SAM ‘l meamng as fhe wa# "de%lgwned" as used in the
context of the passage? ‘ i | \” A I | \‘ ‘ ‘|i I '\ | \ |

[ il ‘ |\ I i‘ I
1) intended AR i “ \H‘| ;‘1\ I \ |
2) painted T Y ‘W “ \“ M‘ ‘\‘ i "I

3) deliberated | 1‘1. ; ‘w Il ‘\‘

- 4\ ctratchod | WA RN \ |I H
i T [l T m
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~ T z ) ottt = - T (=] Py
= refers to "outbrusts” Therefore the right answer in the context of the passage is "2", 2
N s
= b
i S Qs.9 .Which of the followmg words is most nearly the SAME in meaning as the word "designed” as used in the 3
3 cnntext of the passage? -
3 1) mtendedr — = E = — = = 3
S 2) painted = = ' = o
X 3) deliberated= = = — = —— 3
5 4) stretched = == 3
S S) manipulated é - i; I
= 3 = = = — = = It !
™ = = —— PR,
S Qs 10. Which of the fo!lowmg words is mcst OPPOSiT of the word "des -~
2 passage? = — _:—,—7 — — — =—— - 3
1) abandoned = — 7_' =——— 2
- 2) desolate == - - = = %
——J- forsaken——— — —— - ,
4) empty —— = ’ :
5) inhabited _ == ’
QOs. 11. Which of the feilawmg ‘words is most nearly the OPPOSITE in meaning of the word “ceased” as used ;
in the passage.
1) stopped
2) deceased
3) created
g 4| o
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4) continued ﬁ ‘W” MHWWU \‘ ‘ I
N | ‘ | I :
5) maximised || \ ”\ M| ‘\ H \\‘ if u‘ i U H | I I\“ | I ” | i

(B} Spotting the Error

r I \U” I ‘\‘p‘\ ‘
Candidate's familiarity with the conventlons an? gremma“tlca rules o‘f ‘sta‘ndard wrltten Engllsh is tested in this
type of questlons EmphaS|s here wrll\b‘e on assesilwg Iﬁnowledge‘ ” Hco‘rrect expression.
B e
Qs (12-17) Each questlon in this sectlon has been d|V|de‘d lnt(“) Hfcour parts and each part is numbered as (1),
(2), (3) ,(8) & (5)- You have to decrde whether there IS any error |n'the sentence and find out if there is any
grammatical error, the error lf any willbei |n one part of the Jsentenr:e,r the number of that part is the answer.

T 1
If the sentence is correct, your answér is"5" i.e. “No error" ” ‘

e
r | | H \ | ‘ U\ ‘\
s i I | Il | | |
EEE ;“ I “‘W ‘ H

‘ | HH | i ‘ i | | I
Ifo nd thar/ I \|there is no petrol |n it. | Noerror

Q.12 Iwas just going/ to start my‘car/” ‘when

(1) @ 1l @] i ” i (bepatily i f ) s
““ ik

| ‘w | e ‘U
The tense in the fourth part of the ‘sentence poes ‘not agree wnth the tense |n the other three parts of the
I |
sentence. Hence, the error isin part No z} Therefére "4" i‘s the angwer to thls questlon. |
| A | | I

bl W il j“ T
G T
“HH M ‘H\ I ‘\ ‘|“ \“‘ ‘w“\‘
Q13. Both alternatwes/ have their menﬁs/‘and demeritﬁ when/ it‘\comes‘tc‘n‘fmplemen“tationr No error

W RN \“‘“v‘" SO “‘(4)‘ i il (s)
Pw‘ ‘ | wl “ fy !\ ‘r ‘
| | | [
Q. 14. The patient admttted yesterdpw | di nolmsponqecl/ to tlw tma \nlu,M bresgnbed/
@y L M‘ i A “ “ \‘ F.) : “ Iy 1\“ “ I {M Jlil
by the doctor. i “ W | “ L Nplerrer | | ‘ “ | i I
(4) il HESglipL B IARE e

I i
| | | h I T R
il Bl i L R g
Q. 15. The disrntiree roflnrrc thn e ' L tm\lmml T bt it ALl A0 e
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, 7 \ L3 7
by the doctor. No error

(4) , - 5)

Q. 15. The discourse reflects the speaker’s insight/ inthe subject/ which stems out from/
=== 0 = g =)
the experience and original thinking. No error

e e S e ——

: Q.16 Theyoung boy, who was t:ravélllin'g alone/ was,flﬁool_c_'ihg;roqndéuilfy/ so thie ticket checker asked him/
= = : (1) = = ) ==

whereyouaregoingt ~— = = — — — — Noermor

== = (?) .0

- (a) = == = ==
Q.17  Theold woman has had/ the best medical facilities available/ but she will not be cured/

A= — = ] = = = (3)

., unless she does not have strong desire to live. ~  Noerror




—/w'hl'.(-fvldn'.r'-'-lf'-r.lnr\-o\w'-‘-'-r’——ver———vr«——-—-—r-rT

(C) Sentence Correctmn
4 I ‘ Il
Qs (18-19) In this question, a word is given in bold followed by‘three sentences (A) (B) and (C) in which the

~ said word has been used. Read the glven sentences carefully and decnde in whlch of the given sentences the

wordiform of the word given in bold has been correctly used maklng the sentence grammatlcally correct
and meanmgful i o

Q.18 Borne: f‘""

(A) The Student’s fee shall be borne by the School e -

(B) sShe has borne all her problems with great courage

(©) She was borne and ralsed in small tnwn

1) OnlyAiscorrect— ~ - = = e

A R A R R R A R R L B R I P P S
«/.’4,-./,/14'/././/./.«'//././.41/,«/./1z-«./,f.///././.e‘./.!.l/./.l.r.f.f'.(.txl././.{.fa‘J'.d'.r‘.(‘.f‘.f‘.l‘.f’.fe’.{'!

-
-

: 2) GnlyB is correct = = - - e
3) OnIyC is Correct = = o | 3
4) Only (A) and (B) are correct : | 1‘ \‘ ‘ | 8
5) AllA, Bjnd C are Correct 7 0 ;‘ | | | “ 1‘ w B f | i
Q.19 Affect: i r; ‘ e | tlil i AEpee ‘
(A) The town was affected by the natLraI disaster. ‘ “ i 1| i ; | 5} 1 f‘ f” | | i
(B) The accident has severely affectecl his health \ i di bt !ﬁ ;

(C) The medicine has no side affect. I | i | il .

1) Only Ais correct ;1 }‘ 1;1 ‘ H‘ | | 3‘ |
2) OnlyBis correct f I ‘
u 3) Only CisCorrect " \
4) Only (A) and (B) are correct !




= S BRI i ” ; i j
- (A) Thetown was affected by the natural disaster.l‘ | | | il Ll
- = = :.l I et ‘l ““‘ o
~ (B) Theaccident has Severely affected his health e 1‘ el ae : =
= Q) The medicine has no 5|de affect = . ‘ |
= 71] Only Ais orTect == — = :
= — 2) OnlyBis correct — = - =
= = 3 OniGRComede e ==
i 4) Dnly (A) and (B) are correct — = l = e
= All A ,Band Care Correct = ==
Q. 20 -27. This type of question measure your abrllty to recogmse words and phrases that bath leg;ca[ty anci —
grammat;cally complete the _meaning of the sentence . A sentence is given with a ‘word/phrase missing in e
The missing werd will be md:cated by a blank. You have to read the sentence and choose the word for the
;’ blank which best fits in the blank to make the sentences meanmgfully complete and mark the cerre;:t eptmns —
- accordingly as your answer. S - - = —=
,Q,ZG The patient died__ the correct dlagnoms 1 e !
= 1) despite = = ‘ r |
2) besides — - —— ' e " | ‘
3) inplace of il
; 4) instead of | i | i
5) dueto : ;“‘ l
BlMPage




Q.21 The older generation is
youngsters.
1) liberal
2) paradox
3) orthodox
4) progressive
S) restricted

_in its outlook and hence cannot tolerate independent ideas of the

Q22 The President will be provided all the facilities hé is entitled to.

1) by
2) for
3) with
4) of
, 5) to
Q23 In
from consumers,
1) adherence
2) pursuance
3) accordance
*. 4) relevance
5) relation

Q.24 It is delightful to do something that

1) defy

2) despises
3) apply

4) demands
5) invite

Q.25 Ifthis interpretation is held valid, then the States are L

of the recommendations the Board has established a counter to entertain the complaints

skill and patience.

_of power to plan, implement and monitor

e s a s an
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addltlon the mjury
|

126 Thed 'hlld could not extend her elbow afterthe |njury, in
Write . = =

1) postponed =
==o—mollifiec = i
=) paczf === = =
=) peceed .. = i . #
:"? S) hindered =
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Q27 After working into the mgm at the rf

ice1 ﬂp fellu“éxtmmf‘w M»‘

‘h I 1 .y

Ml ‘ﬂ‘ W“Ma‘der,‘heﬂstillﬂ attended the |

f

ffﬁg

wedding ceremony of his frppnd thw next ‘\mmrping i il “‘w ”“v P 5
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Q.27 After workmg into the mght at the offlce, he felt extremely i ;
wedding ceremony of his fnend ‘the next mornmg \‘ H\ I i

controversial . -

1)
2)
,3)
4) energetic '- ‘ _

S) vigorous ‘ |

tiresome
weary
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- hoWever, he still attended the

Q.(28- 30) The sentences have two blanks, each blank indipefes that something has been omitted. Choose
the set of words for the blanks, which best fits, the meaninig of the sentence as a whole.

Q_ 28. Although the whole family arrived together, the elderly uncle was in

clothes,

while his businessman son wore an ornate, almost
1) impressive; complete |
2) decrepit; flashy
3) desirable ; plain
4) dazzling; translucent
5) attractive idimira;utive l i
- ! bl o
Q.29. The jptlc 5peech that the soldiers seg
1) orator;
2)
3)
4)
5)

meﬁy moved to

interloper ; passivity ‘ A 1 R
politician; ordeal | B T
student ;teary |

gave such g pat
elation h (
miscreant ; duress




3 3) interloper ; passivity . . b \ T :
SS ~4) politician; ordeal = Lt g ey e ] | é
33 ~5) student ;teary L R | : 3
S - Q.30. _ _its many difficult and mature themes, Geetanjall remains a choice for =

introducing teenagers to Rablndra Nath Tagore ‘
——— 1) -Despitespopularec—e—--—... ... - — =
2) Considering; naturaliy = - - = == =

3) Whereas; spurned _ -

~ 4) Inspite of; insignificant
5) Although ; undesirable = :

Q. (31-37) Read the following passage carefully and answer the unestim'as given below it in the context of
the passage. Certain words in the passage are in bold to help you locate them while answering some of the 3

questlons

{1 W T ot O] b T 0 0 0 L i i ) o o o)

the elm:immcsysiems that offer us a potentla! service mfrastructure which could, with carefn] pmgrammmg
Eke care of what we describe as mechamcal procedural governance without all the distortions, corruptions

..............
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P TP IF AT T AT LTI T AESI T E T AN iflr#rw’?!ﬁff#»’r’i’71‘#‘}/’!/1”!II’J'IIIfIIIIl/l/llll/li,lllllll’ll’lI‘/I"I’III

\5\'\?\;\\;\\.\;\-\\:\-\ e R e e e e e N e e e \.\ AN N N S S B S S B B M\‘\;\aw‘w‘b\.’ o S i e M o e o T e T e e R S R e e e e e e e e T e e B e e e e e e e e e e e e

Test of English Language

~and harrassments which constitute the daily misery of the average citizen. Of course, the electronic systems
~will only behave to the extent that they are properly progra mmed.

AT Rt e et T Tty T

Once we move our minds beyond the mere usé of the electronic revolution for business efficiency and higher
profitability and apply it to the task of reduting the;routine[— repetitive activities of governance, we will
conserve time and energy for more important and creative tasks. The electronic revolution can make for better
and more effective handling of real everyday problems besides the basic computerized information banks.
Even in less developed conditions, the potential of the electronic network to take over what is called paper
work” has been vividly demonstrated. Licensing systgmrmvo!vmg endless form filling in endless copies; tax
matters which baffle millions of citizens, particularly those who have ndthing to hide; election systems which
require massive supervisory mobilisations or referendums based on miniscule “samples” which seldom reflect
the social reality at the social base. At all these points, the electronic advantage is seen ané resngzu.ed,
Howeve; we must proceed further.

It is possible to foresee a situation where the citizen, with his personalized computer entry card or his
“number”, is able to enter the electronic network for a variety of needs now serviced by regiments of officials.
Indeed, this is already happeningin a number of countries. From simple needs, we will move to more complex
servicing, and, ultimately, into creat:wty or what is called “artificial intelligence” which will guide citizens

through all possible optrons to famhtatzi mformed choices.
| | il

Q.31. According to the passage, W‘hic;h of t‘hé following is the basic service provided by electronic systems?
i h \‘ |
1) Taking care of rputlne ‘prevenﬂvn n,ovprnance
2) Confidentiality of data o
: 3) Surveillance of citizens i
i 4) Ssafeguarding of financial transactions

5) None of the given options

Q32. Which of the following is/are the distinct features of artificial intelligence as mentioned in the passage?




i |

4) Safeguarding of fi f‘nancnal transactl?ps M‘“‘.”‘ e
| (I

5) None of the given optlons R I i

1S
Q32. Which of the following is/are the”alstlng‘ ‘feamres of“ a

A. Ability to create lnrpovatlvé“ldeas L ” ‘\‘I‘ “‘" ““ |
il Ml I
B. Abilityto manntg‘m socnal‘brderw J il lw | ““ “ I ,“
C. Inbuilt bias on a‘ccoquf human prqgrammmg
1) Only (A) i | i A e
2) Only (A) & (B) Il dn I ” i W I | ”\: ‘Iu - i P‘_“
3) Only(B) - - | i I i H‘“d
I il 1\“ ‘ ‘M”““ “M i
4) Only (C) | ill |- il i il “ Il
5) All (A), (B) & (C) i ”. | l | “U il \‘\” ““ i “\‘ |
'\"" | i il
Q.33. What is the limitation of the electrcl)nlc systugms accordlng to the passage?
| I \‘ w‘|‘ Il
‘ w I Il i il !‘ W | il
1) Itisavery costly technolo “\I‘\ L I ‘H | i b
2) It needs an army tramed professnonalg to opef%te i
3) Itwill act only as programmed I |l il Il i

4) Itis easily susceptible to manlpnrtlét;lon and error | w"“ il

5) Maintenance of thns system ﬂﬁ a human ‘Hntensw@
» I U (I
’ H‘h”‘ | ‘IU‘ ‘u“
| |

° s x e
PP I

artuﬂmal intelligence as mentioned in the passage?
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Q.34. Which of the followmg statements is NOT TRUE in the co xt of the passage?‘ it
il L T |
1) Electronic systems require proper programming ||| il i ‘} T v R
2) Electronic systems can reduce routine p"ﬂﬁv‘ﬂ"")’k il il [
I e \ l | f
3) Efficiency of the electronic system has been derﬁHns“t‘mteﬁ m many are as i it |
4) In future computers are going to replace bureaucr£tlc fﬁnctlons il il ) iy

Wl
5) One of the reasons procedural governance |s|tortur us to peoplepls because of corruptlon

gt i il
Q 35 Which of the following words is most nea|rly he same in meanmg as the| u‘lord "mlse as used in the
(i H i ” ‘\ | i A \‘ | |\ |
passage. ‘ il il “ li L I il il i i U‘ Il il H‘\ m\ i ‘
1) Disaster “ R " \h i
2) Agony L e ‘\‘\” w‘“w
3) Poverty I U T MWWWHE
4) Temperament | i W I U e i
5) Evil ‘ L !h H‘ | I l H‘ N | w W U I i\“”‘l’w U | \”‘HH | \4 !
Il T e ‘
Q.36 Which of the foIIowmg‘ words is most nearlylthe ﬁa me ”ﬁeanmg as the word "extent " a5 used i fhe
i me\‘ ‘ i i ‘\H‘”‘ il Al il
passage. | H il il |
- 1) Increase Ml T L L
. ‘ "\ it

I il A |
2) Feasibility W*M*wu\ || MUHM | mww““ il

3) Encompass il LT il
Ll | \ i ,‘\ i i
4) Degree Ik ‘\M“‘ M“ ‘”H‘ ‘HHH MMH‘ HH‘ i ‘M‘!.‘ ‘-‘!““ i‘
5) Expanse ‘ ﬂ»MW‘uWM (A il v me”” i
‘Lw i i W R ““H;‘
il n | 0 W‘ | ” | | ‘\
Q.37 Which of the following wc‘J‘rm u‘s m?‘ \\ﬁ “M \h \l th‘e wqr‘ﬁﬂ\ "fvnlldlru ‘hs.\ ‘usegll in the context of the
passage? M‘hM N hww Mw hﬁ w MN | ! w m V‘wa
in ] I Il i L vl
L0 R U‘ I \H” ‘ ‘W« i
1) Colourfully | ‘HI | Hw H‘\I“ ‘H il M‘ | | ‘\H ‘HH‘U.“‘ T 1
2) Strikingly i ‘h \H U \H M | il | W‘ I | " \‘M “w | HH “\Hm I il it |
, MR ’ ‘ | M | “"“ﬂ“‘ LR il
3.) Plam!y L : ” ‘ “ | W1 L] Al Ul i i M\"} “"w il

\h“‘.l“ MH H‘ ‘H “ ‘ HH |” H‘ U M“‘“ lid ‘Iull kA M“M’HI”U H ‘H “ il m ” Jll w “ HH i I ‘: \H‘ “ .“i‘” i
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3) Encompass

4) Degree

5) Expanse
Q.37 Which of the followmg words is most OPPOSITE of the word “vividly” as used in the context of the
passage? — - = -

1) Colourfully = =
2) Strikingly — = = == =
3) Plainly .. . — — —— E=———
4) Graphically — = - = ——
5) Vaguely == — — = — = : 7‘11%

— Q38-42 Another set of questmns by which the ablllty to understand what is read to extract mformatlon
and to arrange the string of thoughts in logical order is assessed, is dlscussed below. These quesﬂans test
your ab;hty to organise your thoughts and ideas ina su:table sequence. —

~ Given beh}yf are five statements A B, C D and E which when arranged in the correct order, form a mherent
~ and meaningful paragraph. Rearrange the other statements in a proper sequence to form a meanmgful

: 7paragraph and then answer the questions that foIIows

IAj Therefore a large scale affordable cohstruction programme has to be launched.

(B) Construction has not kept pace with it and the shortage of accommadation has been accentuated.

(C) However high cost of materials and labour makes housing an unprofitable proposition.

(D) The census figures show that the population of our cities has increased immensely in the recent years.

(E) This shortage must be overcome in a reasonably short time.

10 I Pa ge

)

4 0l me A A T I )
W o o .:'.a‘.f.r'[

LA 0
I L P
I

o
o el

Lol (R A

il

i A A !
PRSP D B S I i !

LT T
! ol

A

A A T Ly (P S Ll PSRN . St N L 1 N
(J-JJJ/a//J/M////III//{Md//

3,




THTTTHT
Q.38. Which of the following should be the Flfst senté”%‘él? LT e
L |

(1) A (2)B (B)C HH\ i
7 ' Uit AL | | I WAL
Q.39. Which of the following should be the Seconc SEntencew It T
(1A (2)B @ec N @ i §5 il
e I ‘\ ‘M“‘
0,40 Whu:h of the following should be the Thlrd sent‘gﬁée? ‘ i ij il
= 2 AEEE B o el 0 (O
= Tl
f'Q41 Which ofthe fol!owmg should be the Fourth sentence? 0 “‘_ . -
= Ta ==hes Bl D T e
- Qa2 Whlch c:fthe following should be the Fifth sentence? ' H “‘ 0 '
=tk PEE . (3)C bl M i (5) =

=7

Q.43 50 lnstructlons In the given passage there are hlanks, each of whlch has been numbered. These
numbers are given below the passage and agal‘ -each five words are suggested one of which fills the

blank -appro riately in the context of the whole assa e. Fmd oumhe a roprlate words
prop passag “ ! pp
‘\ —
= ,Grgamzat{cnal change (43) often run mto some form of humér‘1 resistance., (44) expenenced managers are

generally all too aware of this fact, surpnsmgly few talfe!\tnme before Han ‘organlzatmnal change to (45)
systematically who mlght resist the change mltlatnve and fnr wha“t\reason‘s ‘Beca use uf the many different ways
in which individuals and groups can reac‘tﬁo change, co[rect eﬁessments ar‘e often nc‘mt mtull‘twely obvious and
require (46) thought ‘ e ‘“ U H\ “} 1‘ H“ |

I | | ‘H‘
All people who are (47) by change expenwue somd H4sernc>ticmal (4%) Pﬁ Lﬂe also (f}‘“ 9) chmnge because they fear
they will not be able to (50) the new g.Lﬁ Is and bahawor that wll\l bwequtmd %ﬁ them Qrgamzatlonal change

|
can inadvertently require people tq mlﬁ nge too mmch tm qwimkly | I H il
, il i T !
Q.43. 1) labour 2) efforts“‘ | Mfacilm il I )‘rmmm W“H 5) “mmmm

H \ I ” H I ‘\ I ‘H‘ I \
\ ‘\ I ‘ m 10 oA 0 el 3 \ I | Il |
il il il Il ol




(G‘) Suppressed words Passage:

Q.43-50. Instructions: In the given passagc there al"e QIanks cach of which has been numbered. These
numbers are given below the passage and agai#ist cach, ﬂwz words are suggested, one of which fills the

blank appropriately in the context of the whole passage. Find out the appropriate words.

e :\ |
Organizational change (43) often run into some form of human resistance. (44) experienced managers are
generally all too aware of this fact, surpnsmgly few take tlme before an organizational change to (45)
systematically who might resist the change |n|t|at|ve and for what reasons. Because of the many different ways
in which individuals and groups can react to change, correct assessments are often not intuitively obvious and

require (46) thought. | .
| \‘
All people who are (47) by change expenence some emotional (48). People also (49) change because they fear

they will not be able to (50) the new Skl"S and behav:or that will be required of them. Organizational change
can inadvertently require people to change too‘much too quickly.

Q.43. 1) labour 2) efforts ‘ é)facility " 4) reduces 5) comforts

Q.44. 1)Although  2)Permitting 3) Conceding 4) Consequenty 5) Henceforward

0.45. 1) measurement 2) assess 3) charges 21) impose 5) collects
Q.46. 1) cavalier 2) remotely  3) careful | 4) vigil 5) attention
Q.47. 1) distress 2) affected  3) move 4) effecting  5) likely
Q.48. 1)unrest 2) ahxiety ~ 3)confusion  4) hassle 5) turmoil
Q.49. 1)resist 2) submit 3) conceding  4) fearful 5) argument

Q.50. 1)develop 2) grows ‘3‘) advancing  4) foresaw 5) agreement
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The questions in the Descriptive Paperhare intended dU‘ 2 “‘ sess y PHW higher order cogmtwe abilities
such as analysing and comprehendmg‘the situation, generatlng \” e

new ﬁ‘r?atlve ideas or situatlons and
\U T I | = i
also your communication sklllsw” Hlt consists of th)c‘) parts TFSay ertlng and questlons based ona

Comprehension Passage. il ‘\ H‘ il i Il ”‘ | \‘ U‘ H i i “ H“”‘ H\ H‘ H“

LA e

‘“ \’ ;51”5 = :  : 7:7 7 7

‘w‘i‘ ‘H“
| w\\' 0
N“Lzbout”zso words

Section A: Write an essay on any ONE of the foIIOWIng{OP'CS u i
| ‘ \ I “\

1. Three measures to eradicate llhteracy |n Indla Explaln how the measures suggested by you w:ll be
effective. ‘ ‘\ ‘ i" “ i e “ | I il | i | i :
2. Unemployment is a major problem in Indna du‘qwto Iackl\ %fjob 6pp0rthn|tnes a mtsmatch between the

i i
skills of the workforce and the need:; of embloyers Explaln tho ways to reduc” unemplcyment in

Sample: ‘ H” “\ h\ \‘

India. ‘,\ H‘ M\ H“w ‘\“ U‘ | i ‘
Il Il il ‘H ‘|‘ HH | it |
3. Explain how global warmmg |mpacts air q“ahw M H\ ‘tf‘\H Wak's tc;‘ arwéstmglot}-al‘ warming aﬁf‘d
improve air quality? w‘ H { m i ” |
el ‘ h
\\M M|

il \” i ! " il ‘H‘ il H‘ ”‘ il H‘ f U‘ " i il il il ‘h

\ |
Section B: English Camprg‘: mnsuFr Héd cirl a pa“‘,magﬁm ‘M\“‘ WU‘”‘ UIH i1 \M‘“‘

\ ‘ I ‘ :
Read the following passage care| uIIY mmd ‘ ‘tW »‘”q%quw Sth.ﬂlrollwww ‘u“‘

| ‘\ | :
populﬂr F‘ N old‘wnd‘m in d‘wlﬂn Llw H‘Nlatl.”qlnrs Mn m fmun 1@, 1818 the” dr

|
In this age, when th# il

electronic systems t] 1ot ofﬁ;x w a potent MI &M rvice inf
programming, fmmb;il;ly lql‘hL’ u“wof”ul F large lenwhtri wlﬂ‘nwv dwc‘:ri‘be as mechanical, |
procedural governance “Witluwt \i um dHLOI Iomﬁ, cor m”tim‘g m ‘l\amsmnﬂnts whi‘cn i

,.,\n,..g ek e edailvg W.;, ,W“ ,‘( lﬂ”-m M. o ‘\\,‘w”\uq\ lh“h‘k r\lum Hb\r\ﬂ: fvhrluuﬂnnm umli .-w '\d I 1”;
T m T i ‘ Il ] 1 T ] il N TR Y ‘\ ’ ;“
Ll IS ‘ ‘ L

2 @ 0 0

Mﬂ !Llll‘!"““ W hich Lould with careful




Section B: English Comprehension based on a passage
Read the following passage carefully and answer the‘ questlons that follows I

day matters in modnting, is the

In this age, when the popular |nvolvement‘in day to
electronic systems that offer us a potential serwce infrastructure WhICh could, with careful
programming, probably take care of a very Iarge element of what we describe as mechanical,
procedural governance without all the dlstortlons, corruptlons and harassments which
constitute the daily misery of the average citizen. Of course the electronic systems will only

behave to the extent that they are properly programmed But this is no impossible task today.

Once we move our minds beyond the mere use of the electronlc revolution for business
efficiency and higher profitabilities and apply it to the task of reducing the routine, repetitive
activities of governance, we will conserve time and ener‘gy for more important and creative
tasks. In other words, the electronic revolutlon can‘ make for better and more effective
handling of real everyday problems addltlonally to prowdlng the 'basic service of
computerized information banks. Even in less developod condltions the potential of the
electronic network to take over a great deal ol what is called bureaucratlc“‘paper work” has
been vividly demonstrated. Licensing systom mvolvmg endless fmm filling ln endless copies;
tax matters which baffle mllllons of citizens, partlcularly thoso who have nothmg to hide;
election system which requure massive supervisory mobulréatlons or rdfercndums based on
miniscule “samples” which seldom reflec,t the reality at the sucnnl babo Atall these points, the
electronic advantage is seen and rncognlitcl Howevtl:r, Wu must Prqgeu l further,
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It is possible to foresee a situﬁation where the cltlze “with his personalized computer entry :

card, his “number”, is able to enter the e!ectronic nétwork for a variety of needs now serviced

by regiments of officialsl high‘w and low. lndeed th‘is is already happening in a number of
countries. From simple needs, we will mo\ie to moré complex servicing, and, ultimately, into

creativity or what is called "artMIclal intelllgehce \H i
il

Q. (i) What does the term "bureaucrfgtic paper‘work” refe

\
Q. (ii) How has electronic revolution helped organisatlons m day -to- day activities?

rto? *

Q. (iii) What is “artificial mtelligance ﬁ ‘UN
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